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AN ZODE”=W, =60° , LODE=W, =120° ,
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H X~ DE’=DE”,

FrLAADE’E” 255U =M,

Jir L ZE’E”D=120° -60° =60° ,

N[N Z0ODE”=120° , Ffl DO/EE”,

K4 FF” /DO, JiTbA F'F”/EE”,

Fir LA E'M=E”N,
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R AD, A e
AD = /x% + y?

AO X1
arctanZ/ADQ = —=—
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AP T BT

firbh Z ADO=12.80 ° ,
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ZADC'=20DC’- £ ADO=120-12.80=107.20 °
AR AR 72 BB



(AB + BC)? = CD? + AD? — 2 x CD x AD X cos ZADC’

HEPAE TR T
ZADC”=-20DC”- £ ADO=60-12.80 =47.20 °
MRE R L e B

(BC — AB)? = CD? + AD? — 2 x CD x AD X cos ZADC"

R R4, W LIS 3] AB=49.29 ,BC=223.18 mm
B

BS>=0.5BC=111.59 mm,DS3;=0.5DE=75.00 mm
KRR T B AR IC S R T 3R

FAFE RS EEE (mm)

AB BC BS> DE DSs CD

CE

EF

49.29 223.18 111.59 150.00 75.00 100.00

50.00

37.50
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IDEi H 1AB ]-BC 1DE ]-EF ]-BSZ 1DSS 1CD
g 49.29 223.18 150 37.5 111.59 75 100
FALA mm
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Ve =0.52m/s

Veg =0.02m/s
Vg =0.77m/s
Vg =-0.77m/s
Vpg =0.03m/s
Vg, =0.52m/s
Vg3 =0.39m/s

w, =L =007 rad/s
Igc

w3 = =5.16rad/s
lcp

wy =2 —0.68 rad/s
Igp

HE |V, Vo Vel V| Ve | Ve | o, | e, | o, o,
HE 0.52 0.52 077 | -0.77 0.52 0.39 10.47 0.07 5.16 0.68
FRAY m/s rad/s

3.2 E 9 INRE 5#h

ag = (&) %IAB =540 m/S2

n Vég 2
agp =1 = 0.00 m/s

ac = acp t+ aAp = a *+ ag t+ A
KN ? J ? J J ?
JilA: 2 //CD 1CD /AB  /BC  L1BC
a5 R B
_DE
aE _DC aC
ag = ag + afp + afg
j‘\‘/J\: 9 N N Q
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agp =0.07m/s’
ap =1.10m/s”
ag; =4.04m/s”
agz =2.00m/s’
aEB 2
a,="=1226rad/s
Ice
aED 2
a5 ==2=0.74rad/s
lcp
Iﬁ H aB aC aE aF asZ asB a 2 a 3
Hid 5.40 2.67 4.00 1.10 4.04 2.00 12.26 0.74
A m/s2 rad/s2
X -
3.3.4LE 9 hiSEE R
G2 G3 Gh Qmax Js2 Js3
75 2% 660 440 300 4000 0.28 0.085
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1. BAGPERE A7, A5 S5
Fgp = mpag, = 222 = 266,41 N
_ __ Gzagz __
Fg3 = m3as3 = = 88.05 N
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M13 :]s3a3 =0.06 N *m

M

hy,y, = —2 =12.89 mm
g2 Fgy
M
hy,2 = —= =0.72 mm
g3 Fg3
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Fs + Gg + Fgg + Fy45 =0

R

Fu5 =69.60N

Fgs =18.42N
@Mt 2. 3
MR 2 3B
FF2 5% C JORIIHE, w15

Fi,Ls + GyLg + FoLy + M, =0
Fip =1103.21 N
2P LINL2\L3 7355l /& G2\F2\F12 f){hi 2
B R A 3 3
FE 3% C RRHETS
Fu3ls + GsLy + Fi3L; + F3Lg + M3 =0

fiEAS -

Fi; =77.31N
SHFFAL 2. 3 #EAT 0 HT

Fops + F3 + G + Fi3 + Fi3 + F, + G, + F, + F}, =0

K J J J ? J J J ?
Jil: J J J J J J J J
LR v 1EHSZ T

i

12 =1095.26 N

F2, =204.72 N
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UiH |Fg2 Fg3 Fgh M2 M3 Mb F'63 |F'63
HoE 26641 | 88.05 32.88 | 3.43 0.06 54.00 20472 | 7731
FAAT N N. m N

i H F'12 F'12 F34 F45 F63 Fo1
;&{E 1095.26 132.21 69.60 69.60 218.83 1103.21
FAAT N
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SITEURALE, TR
n; =100.00 r/min
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W4 = o0 =10.47 rad/s

\%:] :lAB(J‘)l =052m/s

DE
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Ve = Vg + Ve
Ko 2 J ?
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LEF
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B B3t 45
ve =0.11m/s
Veg =0.58m/s
Vg =0.17m/s
Vg =-0.17m/s
Vpg =0.08 m/s
Vg, =0.24m/s

Vg3 =0.08m/s

u=0. 002>

wy =~ =259 rad/s

Igc

w3 =% =1.10rad/s

" lep

Wy = ‘]ﬂ =2.25rad/s

EF

I gE! Vs Ve Vi Vi Vs,

VSS 0‘)1 (1)2 0‘)3

-0.17 0.24

HiE 0.52 0.11 0.17

0.08 10.47 2.59 1.10

2.25

FAAT m/s

rad/s
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ag = W %IAB =540 IH/SZ

al —V—‘2“3—150m/sz
cg = =1

Lgc
n V% 2
agp = —==0.12m/s
Lcp
2
Br = ? =0.19m/s”
ac = afpp + agp = ag + agg + ag
K2 J ? J J ?
JilA: 2 //CD 1CD /AB  /BC  1BC
MR PE 515 R P
DE
aE:RaC
ag = ag + ap + akg
Kb 2 v J ?
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ac =5.04m/s”

ag =7.56m/s’
atg =2.38m/s’
agp =5.04m/s’
ap =-7.70m/s’
ag; =5.03m/s”

a3 =3.78m/s”

t
a, =28 —=1065rad/s’
Icg

t
a3 =22 =5037rad/s’
lep

i
A dg dc ag adrp dgo dg3
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HE 5.40 5.04 7.56 -7.70 5.03 3.78 10.65 50.37
HAL m/s2 rad/s2
3.34E 6 ST SH
G2 G3 GH Qmax Js2 Js3

Jy 2= 660 440 300 4000 0.28 0.085
<R v N Kg. m’
1. SZAQLERORE S, AR 5

Fy, = mpag, = 02392 — 337 14N

G3ag3
= m3as3 = = 16626N

2. THEREBhE A )

(O Hrtfr 5

G
Fys = msay = 5?“ =-231.07N

_ Qmax —
Fr =02 =-200.00N

MIZ =]Szaz =298Nen

MI3 =]S3a3 =428Nen

hy, = =2 =8.98 mm
g2 Fg2
M
hgz =2 =2575mm
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XHHPE 5 AT I100 34, IEEEE B R u,, AR A2 T
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H 1 5 714
Fs + Gs + Fgs + Fy5 =0
R
Fu5 =278.14 N
Fgs =70.99 N

Q)i 2. 3
B RE A 2 3
FF2 %5 C misR %, WS
Fi;Ls + GyLg + FoLy + M, =0
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Fi; =2107.82N
A LINL2\L3 4 il G2\F2\F12 B kiR
FAROREA A 3 3
F 3 5% C SRS
Fu3ls + G3Ly + Fg3L; + F3Lg + M3 =0
fiff1S
Ft3 =2.71N
SIATFLH 20 3 BEAT 4047
F,3s + F3 + G3 + Fi3 + Fis + F, + G, + F, + F}, =0

Kh: v v J J ? J J J ?
e v v v v v J J J
AR v, 1EHAZ JT ]

yj

B, =2104.20 N

F2, =537.67N
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+ F12

43 63

Hth2. 3NBnR

Ur=28 169 —

F12
M2, IR

(3) SRAEFIAE i AR AB | )P4 %6 M,

Mb = F2118 =-11.17 Nem

F61 = F21 =2107.82N *m
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)11 7R TIK

b1

TiH |Fg2 |Fg3 |Fgh |M2 M3 Mb F'63 |F'63
i&@ 332.14 166.26 -231.07 | 2.98 4.28 -11.17 537.67 2.71
FAAT N N. m N

i H F'12 F'12 F34 F45 F63 F61
i&{ﬁ 2104.20 123.40 278.14 278.14 537.68 2107.82
A N
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BHE LRI

e h [a] 50 §01 50/ MBhia
Bl
BAAT mm @)
17.00 30.00 55.00 25 85 R

TIETEEAE h/r0=029 , 1158 r0=>58.62 , HUH r0=59.00 , r1=10.00 »

MBI HIIE N TR

SN AEFE R s=2h82/63

S EMEREB: s=h—2h(8y— §)%/ 8§
SMEFEB: s=h—2h62/87
VR AIFEBL: s=2h(8'— 8)2/ 572

ARSLIEHEREE: s = h[1 —cos(n 8 /8)]/2

H
A2 INE B FEE: s=h[1+ cos(® 8§ /6")]/2
T

IESZINEMEREEL: s=h[ (8/8,—sin(2n 8/8)]/ (27)

IESZ R AR B s =
A ERIR R T RN :

h[1— (6/8%) +sin(2n 6/69]/ (2m)

X = (sg+s)sin & +ecos 6
y = (sp +s)cos & — esin b
M SERRER T RN -
x'=x—r.cos b

y'=y—r.sind

KRTIR TR, THA LIS B A SRR A e I BRI / SR BR 45
Mo |55 |11 |16 |22 [2 |33 |38 |44 [49 |5|8 |8 |97 | 105|114 |1 | 131 | 139 | 148 | 156
Ji5i 5 7 5 5 51015 5 2 5 5 6

2
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s| 0 |04 [16 |35 |58 11. 13. 15. 16. 1 16. 15. 13. 11. 58 | 35 1.6 | 04
160 | 233 | 038 | 733 126 | 496 | 376 | 583 | 7 583 | 376 | 496 | 126 733 | 038 | 233 | 160
196 | 555 | 253 | 555 644 | 174 | 644 | 980 980 | 644 | 174 | 644 555 | 253 | 555 | 196
11 48 56 48 45 64 45 39 39 45 64 45 48 56 48 11
v|o0 |22 43. | 59. | 69. 69. | 59. | 43. | 22. |0 -14 | -27 | -38 | 45 -45 | -38 | 27 | -14
0 | 62 03 23 63 63 23 03 62 .64 | 85 | .33 | .06 06 | 33 | 85 | .04
0 0
0
al 6 |59 | 510 | 370 | 194 -19 | 37 | =51 | =59 | 0 25 | <21 | -15 | -81 81. 155 | 213 | 251
3177 | .19 | .68 | .88 48 [ 06 | 01 |97 1.1 |36 |52 |.59 59 20 | .61 11
0. 8 8 9 7 0 1 1 0
6 0
3

-
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S z1=11, z2=38, m=5, a =20°

FNE W

, JEH han=1, c*=025, FER/NARNER DK

AERY]. BRI EEANA, SR B x= (17-21) /17=035 . HIEFEZEEEI R

LIRS

b4 g | A iR

AT R X X=X 0.35

7 [E BAS d’ d’ =zm d,=55.00, d,=190.00
k& a a’ =a 20

W ha ha=(han+x)m h,=6.76 , h,=3.24
WHR = hf hf=(hantc*-x)m h,=4.49 , h,=8.01
T3 BA% da da=d+2ha d,=68.53, d,=196.47
WRE BT df df=d-2hf d,=46.03, d,=173.97
Hha i a a=(d1+d2) /2 a=122.50

HL PRAR BN 2R3 y y=0 0

HFEER db db=d’ cos a D,,=51.68 , ,,=178.54
wE S s=1nm/2 7.85

TR & 14 a, a =arccos (rcosa /r,) a,=41.05 ° , a ,=24.67 °
N T RIEZA R REELAL S, DLIEKRERE=1

§ .=[z,(tana ,~tana’

TN T IRIEIZA R RE

Rp
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)+z,(tana ,~tana ’ )]/2/n =1
BRI LR 5 £

a’ <arctan[(z,tana ,+z,tana ,~2 1)/ (z,+z,) 1=22.95 °
AL, Hot PR R B 2
a,<acos da /cosa’ =125.01 mm

WRAE I SRS, S5 G HT 2 ih B A 5 N, 2l e e 5 B R
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